T =

UNI-PEX

¥ A KB

%
YE—HF VR
HhEELAL
BERRSEE
FRRE—H—

T B B OH

E
E
e
]

5 ¥
) &
A B %
= =3
+ & &
BH - AR

BExES (RoHS 1 0Y&ERG)

RIHEABRAE—H—

PS—312L
3w
3.3kQ 5kQ 10kQ
(3wW) (2wW) (1W) U AYE—45>2ZX100%)

92dB (1m1W)

90Hz~12kHz (UFEZ20dB)
$16cm A—2ARE—H—

3W (0 : OFF 1:—13dB 2:—7dB 3:0dB)
2W (0 : OFF 1:—12dB 2:—6dB 3:0dB)
1W (0 : OFF 1:—11dB 2:—5dB 3:0dB)

St

ARV . (ABSHIE) v>EIL2.5Y9 /188 747
FAEO214mm HE{T102mm

NZHEHEL (N B, R: K., COM: H)

#9650 g

HREHEAE (REEZEMT) x1., ¢4x38 AKtalx4
%EETW%%E%%E%&%@%TEvb:—pr—ﬁ—éﬁﬁbt\i#ﬂﬂ%xﬁ—ﬁ—
T9,
7%%;7h3>xmﬁ(A44>E—§>x1oo%)f?@f%ﬁﬁﬁﬁﬁ&@ﬂﬁmﬁt
EEEL—G o

L7 v Tr—2—ARD4BEERAGFH/AODLTHVETOT 28X, 3BXOIENTZET,
HEREBICTWHOYERATRIEETT,

=

=R A b

102%3
m_| (8 (67)

.
z - B @il
©

[ =1
5 (o] o
e
= %
@\ i\'( ’/
| \ by
sl
EE[5H EBE[4H @/ b
1 [7yT5—5—G@AL vF|| 6 |[7yTr—5—E8 & ]

2 [mAR 7 BT

3 [htEg 1w (8 8 [NBF (B) 090

4 [HAYER 2W GO 9[RBT )

5 ALK W (#) 10|COMEF (B)

B mm
=3 E 3

DB10-01

SHRUBRD=H., FPELGCERTHENHYET,

v OABBHARH ™ 1 X/ AR BH




